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SIMPLY SUPPORTED BEAMS
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When n > 10, consider the load uniformly distributed

7he reaction at the supports = W/2, but the maximum SF£
at the ends of the beam == &@-n—)wd w

The value of the maximum bending moment =C. WL

F
The value of the detlection at the centre of the span =k &
Value of n . A C k

2 G-2500 071250 0 0703
3 0-3333 0-1171 0-0/18
p 0-3750 01250 0-0/24
s 0 - 4000 0-1200 0-0/26
s 0-4167 0-1250 0-0/27

7 042865 0-1224 0-0/28
e 0.4375 01250 0-0/28
9 04444 07236 0.0/29
10 0-4500 0-1250 0.0/29






